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Simplificando expresiones

Nombre;

Simplificar cada expresion mediante la combinacion de términos semejantes.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

3z-13y-2y

6x-Ox+1y +15y -14y
-TX-2y+4x+4+12-5
8x4-1z+15y+5y+10x4
12y+2x+15x +14x
-7x6-2x-1x6
-5+12z+0z-15y+1
-8x4-2x+7z-4x-32+8x
-10y°+8x-13+11y°
0z-4y-1y
-8x"+10x " +132-42
2x-5x+8y5+3x
15x°+12y-9x°-142-9x°

Oy8-6x4-6x4

10.

11.

12,

13.

14.

Respuestas
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Simplificando expresiones

Nombre: Clave De Respuestas

Simplificar cada expresion mediante la combinacion de términos semejantes.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

3z-13y-2y

6x-Ox+1y +15y -14y
-TX-2y+4x+4+12-5
8x4-1z+15y+5y+10x4
12y+2x+15x +14x
-7x6-2x-1x6
-5+12z+0z-15y+1
-8x4-2x+7z-4x-32+8x
-10y°+8x-13+11y°
0z-4y-1y
-8x"+10x " +132-42
2x-5x+8y5+3x
15x°+12y-9x°-142-9x°

Oy8-6x4-6x4

10.

11.

12,

13.

14.

Respuestas

3z-15y

-3X+ 16y7- 14y

-3X-2y+11

18x"-12+20y

12y+16x+15x°

-8x6-2x

-4+12z-15y

-8x4+2x+4z

1y8+8x—13

0z-11y

2x4+9z

Ox+8y5

—3x6+12y— 14z

0y8- 12x
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